KREEH 202143A31BIE%E
2020£E [ 20094 & 20104 /& 20114E /& 20124F &
L8 B 8 H L8 H = B
REERZH BRREAFER 2 2 1 2 13 5 18
ERBREFER 2 2 2 7 3 10
EEREERH 3 3 1 7 8 3 3 3 5 8
&t 3 3 3 9 12 4 7 23 13 36
20134 & 20144F 20154E 20164E £
= B 8 H 8 H = H
REERZH BYREFER 19 3 22 5 2 7 0 3 4 1 5
EEREFER 4 1 5 1 2 3 0 3 0 0 0
EEBEEERH 1 3 4 1 1 2 3 4 0 2 2
REERFHER 0 1 1 1 1 2 1 2 0 0 0
At 24 8 32 8 6 14 4 12 4 3 7
201745 & 20184F & 20195 & 20205 &
£°8 5 T H “© 5 + 5
RIEEERZESE BEREFER 0 1 1 4 0 4 0 3 5 1 6
EEREFER 1 0 1 0 3 3 0 1 0 0 0
EREREERH 0 3 3 0 1 1 1 1 0 0 0
REERFHER 0 0 0 0 0 0 0 0 0 0 0
a5t 1 4 5 4 4 8 1 5 5 1 6




